
- ----SEE ENGINEERING FOR REV. A-E
F 07/02/04SMSEE ECN #816 FOR CHANGES
G 10/01/04SMSEE ECN #818 FOR CHANGES
H 01/14/05SKSEE ECN #914 FOR CHANGES
I 03/23/05SKSEE ECN #968 FOR CHANGES
J 07/10/07SKECN #1337 FOR CHANGES
K 12/03/07SKSEE CO 200077 FOR CHANGES

LENGTH "L"

DATEENGR.

TYPE

ACSEE TABLE
PART #CHKD:

APP:DWN:
DT:SHEET SIZE:SHEET:

FILE #:
1 OF 1 A 07/02/04 -

SS SM - FINAL

DWG IN
IN [MM]

RICHCO, INC.
ENG@RICHCO-INC.COM

(773) 539-4060

RE: RICHCO, INC.
 

PRINT
SOLIDWORKS

CREATED USING

DESCRIPTION

ROUND SPACERS SERIESTITLE:

ANG.=±1°

TOLERANCES
UNLESS NOTED

.XX=±.010
.XXX=±.005

FRAC.=±1/64
REV.

NOTES:
1. MATERIAL: PVC, RIGID (RMS-11).
2. COLOR: LIGHT GRAY.

*PARTS AVAILABLE BY SPECIAL ORDER "A""B"

FOR #4 SCREW FOR #6 SCREW FOR #8 SCREW FOR #8 SCREW FOR #10 SCREW FOR 1/4 BOLT FOR 3/8 BOLT

1/4 [6.4] SS4-2 SS6-2 SS8-2 SS8-2L SS10-2 SS1/4-2 SS3/8-2
3/8 [9.5] SS4-3 SS6-3 SS8-3 SS8-3L SS10-3 - SS3/8-3

1/2 [12.7] SS4-4 SS6-4 SS8-4 SS8-4L SS10-4 SS1/4-4 SS3/8-4
5/8 [15.9] SS4-5 SS6-5 SS8-5 SS8-5L SS10-5 - -
3/4 [19.1] SS4-6 SS6-6 SS8-6 SS8-6L SS10-6 SS1/4-6 SS3/8-6
1 [25.4] SS4-8 SS6-8 SS8-8 SS8-8L SS10-8 SS1/4-8 SS3/8-8

1-1/4 [31.8] SS4-10 SS6-10 SS8-10 SS8-10L SS10-10 SS1/4-10 SS3/8-10
1-1/2 [38.1 SS4-12 SS6-12 SS8-12 SS8-12L SS10-12 SS1/4-12 SS3/8-12
1-3/4 [44.5] SS4-14 SS6-14 *SS8-14 *SS8-14L *SS10-14 *SS1/4-14 *SS3/8-14

2 (50.8] SS4-16 SS6-16 SS8-16 SS8-16L SS10-16 SS1/4-16 SS3/8-16
2-1/4 [57.2] - - *SS8-18 *SS8-18L *SS10-18 *SS1/4-18 *SS3/8-18
2-1/2 [63.5] - - *SS8-20 *SS8-20L *SS10-20 *SS1/4-20 *SS3/8-20
2-3/4 [69.9] - - *SS8-22 *SS8-22L *SS10-22 *SS1/4-22 *SS3/8-22

3 [76.2] - - *SS8-24 *SS8-24L *SS10-24 *SS1/4-24 *SS3/8-24

(M-9)        
"A"=.397±.010 

[10.1±0.25] 
"B"=1/2±.010 
[12.7±0.25]

PART NO.

(M-2.5)          
"A"=.120±.007 

[3.0±0.18] 
"B"=1/4±.007 

[6.4±0.18]

LENGTH "L" LENGTH 
TOLERANCE

(M-3)         
"A"=.147±.007 

[3.7±0.18] 
"B"=1/4±.007 

[6.4±0.18]

(M-4)           
"A"=.175±.007 

[4.4±0.18] 
"B"=1/4±.007 

[6.4±0.18]

(M-4)          
"A"=.175±.007 

[4.4±0.18] 
"B"=3/8±.007 

[9.5±0.18]

            
"A"=.200±.010 

[5.1±0.25] 
"B"=3/8±.010 

[9.5±0.25]

(M-6)         
"A"=.266±.010 

[6.8±0.25] 
"B"=1/2±.010 
[12.7±0.25]

±.015 [±0.38]

±.020 [±0.51]



X-ON Electronics
 
Largest Supplier of Electrical and Electronic Components
 
Click to view similar products for Standoffs & Spacers category:
 
Click to view products by  ESSENTRA manufacturer:  
 
Other Similar products are found below :  

588-6208-02  599-9844-02  M0516-3-N  M0518-3-N  M0521-3-N  M0524-3-N  M0532-35-N  M0543-4-AL  M0544-35-N  M0544-3-N  M0545-

3-AL  M0553-3-N  M0608-5-SS  M0609-5-SS  M0651-5-SS  M0653-35-N  M0654-4-SS  M0655-5-AL  M0658-35-AL  M0660-4-AL  M0660-4-

N  M0670-35-N  M0671-5-N  M0671-5-SS  M0722-5-N  M0725-6-N  M0904-B-25-AL  M1273-2545-AL  M1273-2545-SS  M1273-3005-AL 

M1273-3005-SS  M1274-3005-AL  60187  60202-SP  60273  60335-SP  60348-SP  60419-SP  60425-SP  60473-SP  60475-SP  60477-SP 

60489-SP  60491-SP  60585-SP  60762-SP  60763-SP  60872-SP  M1303-3506-AL  M1307-3506-AL  

https://www.x-on.com.au/category/electromechanical/hardware/standoffs-spacers
https://www.x-on.com.au/manufacturer/essentra
https://www.x-on.com.au/mpn/concord/588620802
https://www.x-on.com.au/mpn/concord/599984402
https://www.x-on.com.au/mpn/rafelectronichardware/m05163n
https://www.x-on.com.au/mpn/rafelectronichardware/m05183n
https://www.x-on.com.au/mpn/rafelectronichardware/m05213n
https://www.x-on.com.au/mpn/rafelectronichardware/m05243n
https://www.x-on.com.au/mpn/rafelectronichardware/m053235n
https://www.x-on.com.au/mpn/rafelectronichardware/m05434al
https://www.x-on.com.au/mpn/rafelectronichardware/m054435n
https://www.x-on.com.au/mpn/rafelectronichardware/m05443n
https://www.x-on.com.au/mpn/rafelectronichardware/m05453al
https://www.x-on.com.au/mpn/rafelectronichardware/m05453al
https://www.x-on.com.au/mpn/rafelectronichardware/m05533n
https://www.x-on.com.au/mpn/rafelectronichardware/m06085ss
https://www.x-on.com.au/mpn/rafelectronichardware/m06095ss
https://www.x-on.com.au/mpn/rafelectronichardware/m06515ss
https://www.x-on.com.au/mpn/rafelectronichardware/m065335n
https://www.x-on.com.au/mpn/rafelectronichardware/m06544ss
https://www.x-on.com.au/mpn/rafelectronichardware/m06555al
https://www.x-on.com.au/mpn/rafelectronichardware/m065835al
https://www.x-on.com.au/mpn/rafelectronichardware/m06604al
https://www.x-on.com.au/mpn/rafelectronichardware/m06604n
https://www.x-on.com.au/mpn/rafelectronichardware/m06604n
https://www.x-on.com.au/mpn/rafelectronichardware/m067035n
https://www.x-on.com.au/mpn/rafelectronichardware/m06715n
https://www.x-on.com.au/mpn/rafelectronichardware/m06715ss
https://www.x-on.com.au/mpn/rafelectronichardware/m07225n
https://www.x-on.com.au/mpn/rafelectronichardware/m07256n
https://www.x-on.com.au/mpn/rafelectronichardware/m0904b25al
https://www.x-on.com.au/mpn/rafelectronichardware/m12732545al
https://www.x-on.com.au/mpn/rafelectronichardware/m12732545ss
https://www.x-on.com.au/mpn/rafelectronichardware/m12733005al
https://www.x-on.com.au/mpn/rafelectronichardware/m12733005ss
https://www.x-on.com.au/mpn/rafelectronichardware/m12743005al
https://www.x-on.com.au/mpn/waldom/60187
https://www.x-on.com.au/mpn/waldom/60202sp
https://www.x-on.com.au/mpn/waldom/60273
https://www.x-on.com.au/mpn/waldom/60335sp
https://www.x-on.com.au/mpn/waldom/60348sp
https://www.x-on.com.au/mpn/waldom/60419sp
https://www.x-on.com.au/mpn/waldom/60425sp
https://www.x-on.com.au/mpn/waldom/60473sp
https://www.x-on.com.au/mpn/waldom/60475sp
https://www.x-on.com.au/mpn/waldom/60477sp
https://www.x-on.com.au/mpn/waldom/60489sp
https://www.x-on.com.au/mpn/waldom/60491sp
https://www.x-on.com.au/mpn/waldom/60585sp
https://www.x-on.com.au/mpn/waldom/60762sp
https://www.x-on.com.au/mpn/waldom/60763sp
https://www.x-on.com.au/mpn/waldom/60872sp
https://www.x-on.com.au/mpn/rafelectronichardware/m13033506al
https://www.x-on.com.au/mpn/rafelectronichardware/m13073506al

